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The best method to find the relation between cause and effect

1. Case study method

2. Introspection method
3. Observation method
4. Experimental method
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The following is not related to ‘Growth’

1. Quantitative
2. Measurable
3. Qualitative

4. Part of Development
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Emotional and Language developments depend up on
Cognitive development is

1. development is the product of interaction
2. development follows an orderly sequence
3. developments are interdependent

4. development is a continuous process
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Chromosomes are located at

1. RNA

2. Nucleus

3. Genes

4. DNA
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This is described as first social activity
1. Parallel play

2 Associative play

3. Social play

4 Solitary play
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Mental abilities to perform activities are called as

1. Operations

2. Schemata

3. Organisation

4. Accommodation
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The maximum cards used on a person in Thematic
Apperception Test (TAT)
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1 30+1

2. 10+ 1

3. 20+ 1

4 5+1

The following is caused by Frustration
1. Conflicts

2. Stress

3. Mall adjustment

4. Depression
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Father of Intelligence scale

1. Terman
2. Binet

3. Stern

4. Simon
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10.

11.

Intelligence Quotient of a nine years old students, if he is able
to complete the topics specified eight years old student only
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l. 88.8
2. 112.5
3. 96

4. 80

The theory that emphasizes the importance of intrinsic
motivation

1. Theory of Instruction

2. Socio Cultural theory

3. Cognitive theory

4. Operant Conditioning theory
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13.

According to the following, “imitation learning occurs through
identification and internalization”

1.
2.
3.
4.

Bruner
Vygotsky
Bandura

Skinner

808 708" “arerd5se0 o000 ©osfse0 oo
OIESE? YFOS BEIHS0E 28YF) T

1.

Ll

EBhNS)
Sy,
20083°0°

?ozréo)g

The word ‘Mnemonics’ belongs to the following language

1.

2.
3.
4

Greek
Latin
French

German
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15.

This is not the characteristic of ‘perception’

1.
2.
3.
4.

Depends upon sensation
A process involving synthesis and analysis
Influenced only by intrinsic motivators.

Begins with the help of sensory organs
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According to Pavlov, the dog salivates in response to the
circular ring but does not salivate in response to the oval ring

1S

1
2.
3.
4.

Higher order conditioning
Discrimination
Generalization

Spontaneous Recovery
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17.

According to Maslow, the desire for social hierarchy is

1.

2
3.
4

Need for Self Respect
Need for Love, Affection and Belongingness
Need for Self actualization

Need for safety
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Motivation that is used to obtain rewards

1.

2.
3.
4

Extrinsic motivation
Intrinsic motivation
Achievement motivation

Stimulus motivation
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18.

19.

“In the office, boss scolded Raju for his negligence in work.
As he cannot reply his boss, after coming home he showed his
anger on his wife”. This is an example for this defense
mechanism.

1. Repression
2. Displacement
3. Rationalization

4, Withdrawal

“e3p%8° oo HIS’ TGO SrBIOHH M, APBIFD o
$0E5D0T . EHBIFIY IW WSTE 08 S8 ove,

ES eI & S (D)o, 38 Te TEESOEOH
=lnperletar)

1L &350
2. ;RS0

3. reodsseo
4. &BDOTSE

“The behavioural changes occurred as a result of illness
fatigue or drugs are not considered as learning” is stated by

1. Kimble
2. Herbanhan

3. Gates

4. Hilgard
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20.

21.

Identify the incorrect pair

1. Cognitive domain - Synthesis

2. Affective domain - Responding

3. Psychomotor domain - Precision

4. Cognitive domain - Valuing
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One of the following is not related to Bruner’s three modes of
representation

1. Enactive
2. Iconic

3. Symbolic
4. Exploric
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Author of the book ‘The problem child’

1. A.S. Neil

2. Makarenko

3. Montessori

4. Gijubhai
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This Article explains ‘Sport’ is a Fundamental Right to every
child (According to UNCRC)
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1 29
2. 21
3. 31
4 42
Expand RTI

RTI S 93805

1 Regional Teachers Institute

2 Right to Information

3. Right to Teaching Information
4

Right to Technical Information
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26.

27.

The year of Mines Act for prohibits child labour
2P0 S8 BN IAROB Ko 580 BIS VOIS0

l. 1982
2. 2012
3. 1956
4. 1952

The section in the RTE-2009, that states Primary School
should be established with in 1km radius is
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1 03
2. 06
3. 04
4 02

Full form of e-KYC is
e-KYC g &350

1. Electronic Know yours Customer

2. Electronic Know yours Class room
3. Electronic Know yours Computer
4.

Electronic Know yours Certificates
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29.

‘Conformity’ is

1.
2.
3.
4.

Photo editor
Video editor
Maths calculator

Revision tool
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This among the following is related to Authoritarian leadership

1.
2.
3.
4.

There is no relation between the leader and members
Decisions are taken together
There will be no discipline

There will be no freedom to members
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30.

The main aim of ‘Balika Surksha’

1.
2.
3.
4,

Distribution of Cycles to Girl child
Providing training ‘Karate’ for self-protection
Providing nutritional support

Distribution of sanitary pads
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61.

62.

63.

64.

Neither the manager nor the employees to blame for
the delay.

Identify the correct option that fits the blank.

1. are

2 1S

3. were been
4 was

Despite the evidence presented, he remained doubtful about
the outcome of the trial.

Identify the antonym of ‘doubtful’ in the above context.
1. Skeptical
2 Uncertain
3. Convinced
4

Hesitant

I need to buy new car.

Choose the best option that fits the blank.

1. a

2. an

3. the

4 No article is used

The following is NOT a feature of a main clause:

1. It can stand alone.

2 It expresses a complete thought.
3. It requires a subordinate clause.
4 It contains a subject and a verb.



65.

66.

67.

68.

Identify the grammatically correct sentence from the
following:

1.

2.
3.
4

Each of the students have finished their homework.
Each of the students has finished their homework.
Each of the students have finished his or her homework.

Each of the students has finished our homework.

Identify the grammatically correct sentence from the
following:

1.

2.
3.
4

The children was playing outside all day.

The children were playing outside all day.
The children are being played outside all day.
The children playing outside all day.

Reshma said to Priya, “Why are you sketching on the wall?”

Identify the indirect speech of the sentence.

1.
2.

Reshma asked Priya why was she sketching on the wall.

Reshma asked Priya why had she been sketching on the
wall

Reshma asked Priya that why is she sketching on the
wall.

Reshma asked Priya why she was sketching on the wall.

In a report, conflicting data should be addressed in the
following manner.

1.

2.
3.
4

Ignore it to avoid confusion
Present it without explanation
Explain the possible reasons for the discrepancies

Alter the data to fit the conclusions



69.

70.

71.

72.

Identify the role of pacing in dialogue writing.

1.

It affects how quickly the reader moves through the
dialogue and can enhance tension or reveal
relationships

It is not important in dialogue writing
It only affects the length of the dialogue

It determines the number of dialogue tags used

You hit the nail on the head with your analysis of the problem.

Identify the meaning of the expression ‘hit the nail on the
head’ in the above context.

1.

2
3.
4

To be exactly right
To make a mistake
To avoid a problem

To guess randomly

Choose the sentence that refuses something:

1.

2.
3.
4

I’1l think about it.
No, I don’t want to join the meeting.
Yes, that sounds great!

I’m sorry, but I agree.

Identify the language function in the following sentence:

Why don’t we try a different approach?

1
2.
3.
4

Making a request
Suggesting
Criticising

Asking a question



73.

74.

75.

76.

“He finished his meal, then he cleared the table, and finally, he
did the dishes.”

The purpose of the linker ‘then’ in the above sentence is:
1. Adversative

2 Additive

3. Sequential
4

Causal

Identify the function and purpose of the sentence:
"She can speak five languages fluently."

1 Asking for permission
2 Giving permission

3. Expressing ability

4 Indicating possibility

Identify the sentence that indicates 'possibility’.

1. He must join us for dinner as he promised.

2 He can join us for dinner anytime.

3. He has joined us for dinner .

4 He might join us for dinner if he finishes his work.

She discussed the project with her colleague.

Identify the meaning of ‘colleague’ in the above context.

1. A person with whom one works

2 A person who helps commit a crime
3. A person who represents a country
4 A person who entertains others
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78.

79.

80.

In the sentence "The complex problem confused him, so he
looked confused as he tried to solve it," the word 'confused'
functions as:

1. A verb; an adjective
2 An adjective; a verb
3. A noun; an adjective
4 A verb; a noun

In the sentence "We’ll have to deal with the situation calmly,
as it’s a complicated deal," the word 'deal' functions as:

1. A noun; a verb
2 A verb; a noun
3. An adjective; a noun
4

A verb; an adverb

We ran out of milk, so I need to buy more.

Identify the meaning of the phrasal verb ‘run out of” in the
above context.

l. To win easily

2. To cause something to happen

3. To think of an idea

4 To deplete a supply of something

"I was unhappy with the movie's ending."
Identify the meaning of the underlined part.
1. disappointed at

2 envious of

3. conscious of
4

excited about



81.

82.

3.

&4.

"We appreciate your help on the project."

Identify the meaning of the underlined part.

1.

2.
3.
4

bored with
grateful for
scared of

furious about

The baby cried loudly, causing everyone to stop what they
were doing and attend to its needs, whenever it was hungry or
needed a diaper change.

The above sentence is:

1.

2.
3.
4

Complex sentence
Compound sentence
Simple sentence

Compound and complex sentence

Identify the word with the correct spelling.

1.

2
3.
4

Definitely
Definately
Definetely
Definitley

The word “sunshine” is

1.

2.
3.
4

Monosyllabic
Polysyllabic
Disyllabic
Trisyllabic



85.

86.

87.

88.

She emigrated to Canada in search of better job opportunities.

Identify the synonym of ‘emigrated’ in the above context.

1.

2.
3.
4

Stayed
Settled
Relocated
Arrived

Identify the sentence that indicates an ongoing action:

1.

2.
3.
4

She read a book last week.
They have read the book already.
He will read the book tomorrow.

I am reading a book right now.

Identify the sentence that indicates future time:

1.

2.
3.
4

I am attending the conference now.
I attended the conference last year.
I have attended the conference before.

I will be attending the conference next week.

Identify the passive voice sentence:

1.

2.
3.
4

The team played the match enthusiastically.
The match was played enthusiastically by the team.
Playing the match, the team showed enthusiasm.

Enthusiastically, the team played the match.
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90.

Read the following passage carefully.

As the rain poured down, Emma found comfort in her warm
blanket and a good book. The sound of raindrops tapping
against the window created a soothing backdrop to her cosy
evening.

Identify how Emma felt during the rainy evening.
1. Excited

2 Anxious

3. Comfortable

4 Tired

Read the following passage carefully.

As the rain poured down, Emma found comfort in her warm
blanket and a good book. The sound of raindrops tapping
against the window created a soothing backdrop to her cosy
evening.

How did Emma feel about the sound of the rain drops
1. Distracting

2 Soothing

3. Indifferent
4

Anxious
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‘A light year’ is a unit of

1. Distance

2. Time

3. Energy

4. Atmospheric pressure
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In terms of area, the state that has the lowest forest cover in the

country is
1. Arunachal Pradesh
Haryana
3. Madhya Pradesh
4. Goa
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94.

The kings who were called as ‘Andhra Rajas’
1.

2
3.
4

Vijayanagara kings
Satavahanas
Kakatiya kings
Pandyas
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The first Surveyor General of India was

1.

Ll o

George Everest

James Rennell
Lambton

Collin Mackenzie
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96.

He was one of the person who took forward the ‘Bhakti
Movement’ in Maharashtra

1. Samardha Ramadas
2. Basaveswara

3. Kabir

4. Mirabai

(RS WY GEFETRY S00KH BWWIYPS F8S” A
2,88
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The ‘Jizya tax’ was first introduced by

1. Akbar

2. Qutb-ud-din aibak

3. Aurangzeb

4. Feroz shah

BRI DY’ S0 TS (SIFDES
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97.

98.

These people should follow the ‘Kerb Drill” method while
crossing the road

1. Senior citizens

2. Disabled people

3. Children

. Public Representatives

8% renIIPEd 3G (B 7 DEB @SBOOTOYS T8>
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‘National Consumers Day’ in India is celebrated on

1. 17" August

2. 17" July

3. 24™ September

4. 24" December

PESTI0E” W BAH IIETATHO BS'E)S0" BHYHS &

1. esiizy 17

2. o9 17

3. o8 24
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99.

100.

66%° North latitude is called as

1. Arctic Circle

2. Tropic of Cancer

3. Tropic of Capricorn

4, Antarctic Circle

66Y2° &ES ©F0FTR) BTN DT
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58),& B

5088 B
@owazyeﬁg S©030

W N

The popular harbour in Harappan civilization was
1. Motupalli

2. Lothal

3. Calicut

4. Poompuhar
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101. The ‘Egyptian civilization’ flourished on the river bank of

1. Indus

2. Tigris

3. Nile

4. Euphrates

B THOSE’ B IO 2.8 @HIB Dodok.
1. Slelaby

2. BB

3. Sew

4. corpdS

102. The time taken by Venus to orbit the Sun

1. 88 days

2. 255 days

3. 687 days

4. 164 days

DI DB ot BTN HE S0
1. 88 &aren

2. 255 8% en

3. 687 &aren

4. 164 &%ren



103.

104.

The major factor of soil formation is

1.

2.
3.
4.

Topography
The nature of the parent rock and climatic factors
Role of organic material

Time taken for the composition

Joen INEZAS (HErS 5o
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This among the following is not a Tertiary activity

1.

Ll

Trade
Banking
Mining

Insurance
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105.

106.

It is an important textile centre in Japan, also known as the
‘Manchester of Japan’

1 Tokyo
2 Yokohama
3. Osaka
4 Kyoto

‘ ;Sro?:‘):‘oog 3D 2> @ e enSwa >SS &%
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The British ultimately achieved victory over Mysore in

1. Battle of Buxar

2. Third Battle of Panipat

3. Third Mysore War

4. Fourth Mysore War
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107.

108.

Indigo cultivation in ‘St. Domingue’ in the Caribbean Islands
was started by

1.
2.
3.
4.

The French
The English
The Dutch
The Spanish

SEHAHS HPOSW 200008 EWOR” & 065 H0erS>
D0&0WEO (FPEODODSI:
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The person who declared himself as a Governor under Mughal
emperor Bahadur Shah Zafar during the 1857 mutiny was

1.

2.
3.
4

Tantia Tope

Nana Saheb
Jhansi Lakshmibai
Mangal Pandey

1857 SHifoemmen ¥300H08" ZowS SIESE earersr wrnd
oS’ B TD ASHHT S35 & (HES0SHY) T

1.
2.
3.
4.
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109.

Identify the correct aspects related to Diversity in lifestyles of

Andhra Pradesh

a) People living in the plains depend on Agriculture

b) Fishing is the main occupation for people living in the
coastal area

C) Basket weaving, pig rearing, work in poultry etc are the
non-farming activities in plains

d) Charcoal batti, making of cement bricks are carried out

in the mountainous regions

SOGEBIE™ BT FAFGELH 20220800 TP GOFOD

580506,

) DorTed &0l (BEes (HENOM SEFeHo W
eS°8 DET.

b)  EY A5 Pocred™ P THeo HyEo (RS 5B

C) Qe BYEO, VOHO PODEO, 5§ ForoS® B
BAEO BID DS | FoSreS R SN oSS
SESNSSION

d)  FK s9)E0, HIoE gense Sa5Tdos e
(Frogros® FdEarh.

1. a,b,d

2. b, c,d

3. a,b,c

4. a, c,d



110. The vedic texts are considered as a foundation for the

111.

following

1. Indian Cousine

2. Indian Philosophy and Yoga

3. Indian Arts and Crafts

4. Indian Architecture

Sren B2 (08 IAATOH PITAM G

1. eTPERAT SoeIToeD
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3. arSd0DH sven, B Syen
4
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Identify the group of islands located to the south of the
Lakshadweep Islands

1. Andaman Islands

2. Nicobar Islands

3. Sri lanka

4. Maldives
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112. The river Narmada has its source at

113.

1.
2.
3.
4.

Satpura
Amarkantak
Brahmagiri

Slopes of Western Ghats

«5(5&65" & ®J§z)_ wé&“g@o
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Identify the correct statement that distinguishes between
flora and fauna

a) Flora refers to plants, fauna refers to animals

b) Flora refers to animals, fauna refers to plants

C) Flora includes all living organisms, fauna includes only
plants

1. a only

2. b only

3. c only

4. aandc

Fo OGN T D& GO BOHED IBS TSR

5801506,
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114. This transforms a population into ‘human capital’

115.

1.
2.
3.
4.

High birth rate
Investment in education, training and medical care
High consumption of resources

High unemployment rate

38 BICLTC ‘IS SOTOFI0 T SeE08.

1.
2.
3.
4.
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The two famous teachers belonged to the Ganas were

1.
2.
3.
4.

Ashoka and Buddha
Buddha and Mahavira
Kautilya and Kalidasa

Mahavira and Samudragupta

KeoH 083 388 (D1 ANWSISN

1.

2
3.
4
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116. The following is not the function of the Grama Panchayat

117.

1.
2.
3.
4.

Construction and maintenance of water sources
Levying and collecting local taxes
Approves the panchayat plans and allocates the funds

Executing government schemes

808 AS° I HoTrond G 28

1.
2.
3.

HBSSSH D030, DKed
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The Primary purpose of the question hour in the Parliament of
India is

1.
2.
3.

4,

To debate new laws
To discuss international relations

To elicit information about the working of the
government

To prepare the Parliament’s annual budget

5 FPI00e0" (HINSY HF0H0 By, (PPN SO

1.
2.
3.
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118.

119.

If people think that a law passed by the Parliament is unfair,
they can respond in the following way

1.

2.
3.
4

Can’t do anything, they must follow the law
They can express their concerns and approach the court
They can ignore the law

They cannot hold public meetings against to
concerned law

FFI00en SIPBODT SO VIO &OB (Haed &I
T B2 ($0 o DY0LOSNY)

1.
2.
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The main purpose of the Scheduled Castes and the Scheduled
Tribes (Prevention of Atrocities) Act, 1989 is

1.
2.

To promote education for Dalits and Tribal groups

To prevent violence and discrimination against Dalits
and Tribal groups

To provide financial aid to Dalits and Tribal groups

To increase political representation for Dalits and
Tribal groups

31®§e§§oere>o 508350 ’oqcsoagegéﬁm (o758 dser)
5630 1989 (36 &Z¥0

1.
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120. The ideas of liberty and democratic rights were the most
important legacy of this revolution

1. Bloodless Revolution
2. French Revolution

3. American Revolution
4. Russian Revolution
=)
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121.  “South Africans never give up on the belief in goodness, that
they cherish that faith in human beings is the cornerstone of
our democracy” opined by

1. Mahatma Gandhi

2. Dr. B.R. Ambedkar

3. Nelson Mandela

4. Martin Luther King

“BEETRT (oo H0DSETO P EH IHYSRY) INBE SOTVED,
SrIPeP 708 Ko Bs IFNH0 DI [Perd(Ergdd Koo Hogso”
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122.

123.

A candidate who uses temple to election campaign even if he
wins the election, the following Consequences will occur

1. The fine will be imposed on them

2. Their election can be rejected by the court
3. They will be banned from the next elections
4. They will have to re-campaign in that area

AYsL (HT0°S BIoWTY) EHBTAODS @ PSS
R@i’)é:ao)éig TP DOETCHI0 B8IFOM® &0E008.

1. 288 2EIPI® DEO0IEIHON.
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GDP records the market value of

1. all final goods and services produced

2. all public goods and serviced produced

3. all intermediate goods and services produced
4. all private goods and services produced

GDP &3 55°3),¢5 Den5s) S3e D908.
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124.  The ‘Climographs’ do not show the following

125.

1.
2.
3.
4.

Maximum temperature
Atmospheric pressure
Minimum temperature
Rainfall

= ’ 9,
SITee’ ($08 A SIR0SY.
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2
3.
4
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It is not a part of the Himalayan River system

1.
2.
3.
4.

The Indus

The Brahmaputra
The Mahanadi
The Ganga
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126. This does not change the size of the population of a country

127.

1.
2.
3.
4.

Births
Deaths
International migration

Internal migration

30 BF 57T HBITeTR) SoT)ed

1.

2.
3.

4.
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The Munda and the Santhal men migrate to work in mining

sites in
1. Odisha
2. Maharashtra
3. Kerala
4 West Bengal

52008, DOTS 2o P Sa @@oé’sfb K308 B
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128.

129.

These two institutions are referred as ‘World Bank’

1.

2.
3.
4

IBRD and IMF
IBRD and IDA
IDA and IMF

IMF and WTO

58 BOG VOPOD PV WgoH’ M IS OFLD.

1.

> »w b

IBRD &08as» IMF
IBRD S08as» IDA
IDA 358a53 IMF

IMF $5586a530 WTO

An important way for people to access food grains as part of food
security in India is

1.
2.
3.
4.

Anganwadis
Mid-Day Meal Scheme
Ration shops

Grocery stores

TESTIOS” 538 PESS arKonmr (Hues B I
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130. The ‘Alternate Public Distribution System’ (PDS) was
initiated by community groups in

1. Kerala
2. Tamilnadu
3. Punjab
4. Telangana

e 0H0S° (D )0Tres (SEGEINAD (He HoBE JgIY'W
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1. el
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4. SOONET

131. The nations that were not invited to become members in
‘the League of Nations’ at the time of its formation.

1. Germany, Russia
2. England, France

3. China, Japan
4.

France, Italy
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132.  This was not in the main long term causes which led to the

133.

First World War

1. Imperialism

2. Aggressive nationalism

3. The murder of Austrian Prince
4. Secret alliances
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He laid the way for planned economic development in Russia
with Five Year Plans

1. Lenin
2. Stalin
3. Nikita Khrushchev
4. Malenkov
EX§S” H0SSY (DeT TS (DeTPT Y SOSTHIRS 8
RO NI Lo
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2. O
A
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134. The Indian National leader who appealed to Hitler to prevent

135.

the World War was

1. Sardar Vallabhbhai Patel
2. Jawaharlal Nehru

3. Subhash Chandrabose

4. Mahatma Gandhi

(5903 05008 Aeesg b3 IF)90 DS S &S
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The reason behind the Draft Constitution being presented
before the public for eight months was

1. Constituent Assembly waited for proper time

2. The British did not give the permission

3. Constituent Assembly waited for public reactions
4. To take other leaders opinion
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136. The Governor of a state can recommend to the President
for the dismissal of a state government as per this Article of
the Indian Constitution

137.

1.
2.
3.
4.

Article 356
Article 360
Article 355
Article 352

L5 Ooemgo0ST Ba wQEE0 (F5°60 KSHE ool
(PabEN) STOROBIH T FHBE HI T DI,

1.

L

35655 5956
3605 5955
3555 5956
3525 956

A war fought between two blocks through propaganda and
words after Second World War is called

1.
2.
3.
4.

the Cyber War
the Cold War
the Tactical War
the Civil War
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138. The Union Carbide factory which caused for Bhopal Gas
Disaster was mainly belonged to this country.

1. Russia

2. France

3. Germany
4. America
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139. According to the 1986 National Education Policy, the
following is not one of the ten fundamental elements included
in the social science education framework

1. The culture and traditions of our country

2. Equality, Democracy, Socialism, Secularism
3. Gender equality

4. Developing technological outlook
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140.

141.

Primary sources for the new textbook design

a)
b)
c)
d)

National Curriculum Framework — 2005
National Education Policy — 2020

Right to Education Act —2009

A.P. State Curriculum Framework — 2011

SIPHS 3‘6§@§D§ 65"‘06§e>°)£6§3 (DS esGPoren

a)
b)

A% Ao (Perdse (o - 2005

0% ey IS0 - 2020

3605 TR, w&o - 2009

©O(FHBF o7y AT (P (w0 - 2011
a,b&c

a,b&d

b,c&d
a,c&d

The following knowledge is also necessary along with Indian
history for students to understand why foreign invasions
occurred from the North Western direction

1.
2.
3.
4.

The political history of India
Geographical knowledge of India
Economic policies of the invasions

Ancient Indian cultural practices
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142. This enhances student’s critical thinking, creativity and
problem — solving abilities

1. Assignments

2. Brain storming

3. Role play

4. Cooperative learning

30 TR S ST (HOLD, VTS YESD0 DI
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143. Identify the mismatched pair

1. Observing the picture and

discuss — Conceptual Understanding
2. Reading a map — Mapping skill

Creating a table from a

graph — Information skill
4. Respecting other’s opinions — Reflection on contemporary

issues and questioning
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144. The following institution strives to bring qualitative

145.

improvement in teacher education

&IOS DS’ KHETS S DI BRHOSEIS
B2 (808 v0Y Sy Tnod.

1 NCERT
2. NCTE
3. SCERT
4 UNICEF

Coin collection is a

1. Skill
2. Interest
3. Attitude

4. Knowledge
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146. “Distinguish between agro based and mineral based industries.
- This question comes under this skill.

1 Knowledge

2. Understanding

3 Application

4. Appreciation
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147. Find out the differences between the life style of farmers in the
USA and India on the basis of pictures collected from magazines,
books, newspapers and the internet. This question develops the
following skills among the students.

a) Conceptual Understanding

b) Information Skill

c) Reflection on Contemporary Issues and Questioning
d) Appreciation and Sensitivity

BT, YITw, T°T, HBEew, BOST0 Ho& DEBODS
DT ST S SBIO $HOT @O B A55IO
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1 a, b

2. a,b&c
3. a,c&d
4 a,b&d



148.

149.

According to the Collaborative Learning Approach in social
science, identify the correct processes that play a key role in
children’s learning

a) Questioning

b) Sharing mutual thoughts

C) Continuous exploration

d) Memorization

OR0EF(ROS” aTRIG g LGOS IO (HSTT0 Dyen FY)
§'5608° Soopg (G FR0T (BSOS’ HOGE>S B
5801506,

a) (D%)os5&0
b) DT arTrosd DoHE NS0

c) oS 6:93033/.18‘3
d)  sosgo B0

1. a&b
2. b&c
3. a,b,c,d
4. a,b,c

The non-characteristic of Three Dimensional Teaching aids is

1. Length
2. Width
3. Height
4. Size
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150. The following activity is an example of field work in social
science teaching.

1. Conducting interviews with local community members
2 Writing a report on historical events

3. Watching a documentary about Indian politics

4

Visit the Parliament and observe Lok Sabha sessions

directly.
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